[image: Diagram

Description automatically generated][image: Table

Description automatically generated][image: Diagram

Description automatically generated]    
































[image: Diagram

Description automatically generated]
[image: Text, application

Description automatically generated with medium confidence][image: Graphical user interface, text, application

Description automatically generated]


image1.png
o a) A jar contains 8 spoonfuls of honey. jﬁﬁfﬁ
Each spoonful holds 12 ml of honey.
How much honey s in the jar?

b) The honey is poured equally
onto 3 bows of porridge.
How much honey s in each bowl?

There are D mlof honey in each bowl.
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€ There are 64 items of clothing in this chest of drawers.

How many items of clothing are in each drawer?
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There are [:] items of clothing in each drawer.

CoJ
There is the same number of items in each drawer. %
o

.
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o There are IS cakes on a tray.

i

How many cakes are there on 3 trays?

There are (] cakes in total.
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 Refect J

Mox used this bar model to help him
solve a problem.

What could the problem have been?
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S
O A toweris 3 times as tall as a house.

A house is 34 metres tall.

How tall is the tower?

The toweris [ Jmetres tall




